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QUESTION 1

Which two statements are correct about functional zones? (Choose two.)

A. A functional zone uses security policies to enforce rules for transit traffic.

B. Traffic received on the management interface in the functional zone cannot transit out other interface.
C. Functional zones separate groups of users based on their function.

D. A function is used for special purpose, such as management interface

Correct Answer: BD

QUESTION 2

What are the valid actions for a source NAT rule in J-Web? (choose three.)
A.On

B. Off

C. Pool

D. Source

E. interface

Correct Answer: BCE

https://www.juniper.net/documentation/en_US/junos/topics/topic-map/nat-security-source-and- sourcepool.html

QUESTION 3

Which Statement is correct about Sky ATP?

A. The local Sky ATP platform downloads the latest threat from managed site

B. Sky ATP can provide live threat feeds to SRX series devices

C. Sky ATP is a local hardware-based security threat analyzer that performs multiple tasks.
D. Sky ATP relies on the SRX series device to open and analyze suspect file attachments

Correct Answer: B

QUESTION 4

Which two statements are true about security policy actions? (Choose two.)
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A. The reject action drops the traffic and sends a message to the source device.
B. The deny action silently drop the traffic.

C. The deny action drops the traffic and sends a message to the source device.
D. The reject action silently drops the traffic.

Correct Answer: AB

QUESTION 5

Which statements about NAT are correct? (Choose two.)

A. When multiple NAT rules have overlapping match conditions, the rule listed first is chosen.

B. Source NAT translates the source port and destination IP address.

C. Source NAT translates the source IP address of packet.

D. When multiple NAT rules have overlapping match conditions, the most specific rule is chosen.

Correct Answer: AC
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